





INSTALLATION STEPS

POST REINFORCEMENT INSTALLATION:

Layout and measure post reinforcements according to the figure on page 4.
Maximum of 8’ from centre to centre.

Install post reinforcements according to appropriate method found

on page 5.

Slip on vinyl post cover over post reinforcement

MEASURE & TRIM RAILS:
) Measure distance (top and bottom) between posts as seen on page 4.
) Cut both rail retainers, top (hand) and bottom rails.
) If needed, assemble balusters with top & bottom retainers using #10,
1-1/2"Pan Head, Type A screws.

INSTALL BOTTOM POST SCREWS:

Using a #10,3/4" self-drilling Tek screw install bottom post screw. Refer to
page 3 for method and measurements. (Repeat 2 times)

Snap on post skirt

INSTALL ‘L’ BRACKETS:
Using a #6,3/8" self-drilling screw secure into place the ‘L’ bracket flush with
the end of the rail retainer ends. (Repeat 4 times)

INSTALL RAILING:
) Position bottom rail ‘L’ brackets onto bottom post screws installed in step 3.

) Secure railing into place using #10, 3/4” self-drilling Tek screw. (Repeat 4

times)
6. SNAPINTO PLACETOP (HAND) & BOTTOM RAILINGS
7. PUSH ON POST CAP WITH GLUE (Standard PVC Glue)

BASIC MEASUREMENTS FOR 8’ RAILING

—»| |<&— 3-3/4"BETWEEN
OUTSIDE OF BALUSTER

ﬁ SURFACES

4” FROM
MOUNTINGW
SURFACETO

-1/4” ABOVE 1.8 Meters |<—

TOP OF

—l

=i

92" (7'-8") MAXIMUM OPENING
BETWEEN POST COVERS (OUTSIDE SURFACE)

BOTTOM T |<

RETAINER

96" (8') MAXIMUM OPENING
BETWEEN POST REINFORCEMENT CENTRES

—| 31”UPTO 1.8 Meters

—»| 37

<%3-1/16" P>

2-7/8" B

SUBSTRUCTURE
(STEP 1B - SEE PAGE 5)
P A

When the bottom post screw

has been completely tightened into
the post cover and reinforcement,
manually loosen the screw about 1/8
of a turn. This will leave the fasteners
exposed so that the ‘L' brackets can be
slid down onto them after they have

STEP 5b

IMPORTANT

been installed on the rail sections.

J

ALWAYS INSTALL POST
REINFORCMENT SO THAT
GAP FACES AWAY FROM
THE DIRECTION OF LOAD
(ie.leaning person)




I POST INSTALLATION & MEASURING

Before installing your new vinyl-clad railing make sure

your substructure has been built properly and conforms
to local building codes. Install your newel posts using the
installation instructions outlined on page 5. After steps
on page 5 have been followed refer to page 3 for
further instructions.

The newel post reinforcements
are to be installed with a MAXIMUM
length of 8'-0” or 6”- 4" for glass

railings, center to center.

IMPORTANT
ALWAYS INSTALL POST
REINFORCEMENT SO THAT
GAP FACES AWAY FROM
THE DIRECTION OF LOAD
(ie. leaning person)

|
I MEASURING & CUTTING RAILING SECTIONS I

After your newel posts have been
installed you must measure the
lengths of your required railing
sections. Measurements must be
taken face to face (As indicated
in the illustration) and should be
measured in both top and bottom
areas as a fail safe. If sections need
to be cut they should be cut
symmetrically from the center.
(ie. If you need to reduce the
overall length by 3’ cut off 1.5"
from each end.)

)
)

—— 92" MAXIMUM OPENING ————
BETWEEN POST COVERS (OUTSIDE SURFACE)

<—— 72" MAXIMUM OPENING FOR GLASS ——————
BETWEEN POST COVERS (OUTSIDE SURFACE)

1 AL
—A—

PART IDENTIFICATION for RAIL ASSEMBLY

6 MM TEMPERED
GLASS
PART No. 6mm.glass
QUANTITY -1

P>
TOP (HAND) RAIL / A Dh

PART No. 1400301
QUANTITY - 1

BALUSTER
PART No. 1400304

RETAINER
PART No. 1400102
QUANTITY - 2

BOTTOM RAIL
PART No. 1400302
QUANTITY - 1

‘\— MOUNTING

‘L'BRACKET
PART No. 1400702
QUANTITY - 4

PVCPOST COVER
(4.0"x4.0")
PART No. 1400305
QUANTITY - 1

ALUMINUM
GLASS TRACK \
PART No. 1400107 )

STEEL POST /

REINFORCEMENT
PART No. 1400703-704
QUANTITY - 1

=

=
}

ALUMINUM /\ %

PART IDENTIFICATION for POST ASSEMBLY I

PART No. 1400502
QUANTITY - 1

POST CAP
RT No. 1400501
QUANTITY - 1



